REVISION ASSIGNMENT
CLASS Il

SYLLABUS for the Weekly Test to be held on

a) Four-digit numbers
b) Mental Maths
Refer to the notebook and worksheet

| . Write in words —

a) 8065 -
b) 1580 -
c) 988-

d) 5314-
e) 9012 -

Il. Expand the following —

a) 7004 -
b) 4839 -
c) 3015-
d) 6503 —
e) 8220-

Il. Write the numeral —

a) Eight thousand and thirty five —

b) Three thousand nine hundred —

¢) Two thousand seven hundred and ten —
d) Nine thousand four hundred sixty eight —
e) Five thousand and five —

IV. Write the place value of the underlined digit —

a) 7845 -
b) 3549 -
c) 2135-
d) 9075 -
e) 1903 -
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V. Write the short form ( numeral )

a) 7000 + 60 + 3 =

b) 9000 + 500 + 80 =

c) 2000+ 9 =

d)3000+10+7=

e) 8000 + 200 =

VI. Put the sign of >, < or = in the box —

VII.

a) 3618 [ ] 3861 b) 5845 [ ] 5805
c) 8095 [] 8009 d)1300 [ ] 898
d 4x8 [] 6x6 e) 100-40 [] 50+20

Arrange the following numbers in Ascending order —

a) 2195 , 2915 2951 , 2519 ) 2591

b) 8006 , 3186 , 5984 , 9001 , 7210

c) 7700 770 , 7007 , 7070 , 7707



VIII. Arrange in Descending order —

a) 9100 ) 910 ) 9000
b) 5469 , 9469 , 1469
c) 3133 331, 3131

IX. Write the numbers —

a) From 5689 to 5705

X. Fill in the successors and predecessors —
a) 3599
c) 8464

e) 2009

g) 5001

i) 7050

’

’

, 9010 , 9001
3469 , 8469
3331 , 3113
b) 8945 to
b)
d)
f) 999
h) 1568
i) 2999

8960

9100

6399



XI. Fill in the blanks —

a) The largest four-digit number is
b) The number just before 7000 is .
¢) The place value of the digit in the hundreds place of the number 2765 is
d) 2990 is than 2909 . ( greater / smaller)

e) 8245 comes before
f) The number after 2989 is

g) 6thousands + 7 tens+ 9 ones = .
h) 3000 + + 10+ = 3718
i) 3699, 3799 , 3899 ,

j) One lessthan 5100 is

XIl. Fill in the answers —

a) 74+6+17 =
b) 8000+90 =
c) (3x4) +100 =

d) 700 more than 5235 is
e) 500 less than 9560 is
f) 6350+ 400 =

g) 535 +8535 =

h) 45 less than2645 is .
i) The sum of the largest and the smallest three — digit number is

j) Largest four-digit number — Largest three-digit number =
k) 8000+ 800 + 8 =
[) 3100 - = 3100

m) + 90 = 900
n) 200+ 320 + 50 =

o) (7th — 2th) +3th =

p) 1200 - =1100
q) 9000- 1 =

r) 4000+ 600 +400 =
s) 8 + 8 + 8 =

t) 750 is more than 700 by




